I TOP &M FEAISCRY, MABTE! Wik www.whedu.top HiiE: 1329410 5612

16.3 AR A

(#2115 ]
1o FERFER MRS, BERGREAT R s 5.
2. AEMERAAZRIIREAT R RR A2 5.

@I SED

FEZRRK

JUIA Z AR A 8] — RS, R eI 7 BOA TR, R A Z R 2 i ) 28 — R =K.
Z IR R IREE

S A UM A R 6] R 2, PR T U7 O A ) = DR AT & 9

“XRANBEEH

JeIeTr, IR, OGN, AHRESMAREFESE (SUkREES) .

(GEZ))|
—. BB
L FH aRAh, RS V3 T aIEmE ()
3
A VE i /2 Vv
2. R =R AALF B 5 Vab (I 7 SRR E ()
b b b
A. \/% B. % c.Vy D. Va3b?
3. FAICUARA T, WREARRES V3 BT EmE ()
1 3
AVE B. V27 ng D. V12
4. FEFH—MRt, 52 REE-KBRAmEC )
A V8 B.—3 c. V12 D. V48
5.7 FHIS4URAH, RREXZURAmZE ()
1
ANE VTS B VI
C. Va*b F1 vVab? D.va+1 f1va—1
6. FHEETmmZE( )
A.a+2a =2a? B.V2+V3=45
C.(x—32=x>-9 D. (x?)* = x°

AW (Lo T


http://www.whedu.top

I TOP &M FEAISCRY, MABTE! Wik www.whedu.top HiiE: 1329410 5612

7. RS, ERZ ()

3 5 7 9
AE BE C'E DE
9.%a=vT-1, WHa® +2a—12 R ()
A. 24 B. —6 C.4v7 410 D. 47 + 12
10.C4a=~54+2, b=+5-2, M Ja®+b2+7 R )
A3 B. 4 C.5 D. 6
—. EHZEH®

11. 47 /80 — /45 =

2.4 VA5 =2 x VD =

1
13,115 V2 x <J5— 2\@) Iy 5 T

14, B E —RR V3a—5 MVa+T RRK-URR, Wa=
I

ERTR 6\f3— (Vi+1) =

16.#185: V2+(3-2v2) =

17. 88 x=2—-+3 , gt (T+4V3) - 2+ V3)x+ V3 e

18,15 (VX + ) (VX =) =

19.85a=~5+2, b=+5-2, Mab=

20, 11 (\/E+\/§)2°2°.(\/€-\/§)2°21 _ .

527 (FEoT)


http://www.whedu.top

Y TOP &M JBAISCRY, FRAFTA ! Mhk: www.whedu.top Hiif: 1329410 5612
= = N

=, RES
21 15

2 1
(1) 3V/5+2V5 @ (V2= V3) t s

22,
(1) V=35 + (VI-3) (VI+73)
() (V2+3-6) (VZ- 3+ 6)

LY X
23.8413x =2 /xy—y=0(x>0,y>0) , j?;"‘; 1A .
24, THE: .
(D V2(V2-V3)+6 <2>~/2—7+¢ﬁ+\[§
25 THE:
(» (VI2+V20) - (3-V5) (2) VBxV6—-3V6+2

530 (Lo 1)


http://www.whedu.top

I TOP &M FEAISCRY, MABTE! Wik www.whedu.top HiiE: 1329410 5612

26. 1H5 -
! 42 —26) =242
(1) 2V3-6/3+V3 @ )
27. iH5-
v 2b\/5 3 &b — Joab
(1) V5ax2y10b 2) o+ o
28. iHH.

<1>\/1——+\[—\f—2] Vi-1)
(2) BV 52—/ (2~ ( 5——)

29. ORI AR Y W2x +y =5 A V/x =3y + 11 RRZE KRR,
(1 ) Ek X, y E‘J{Eq
(2) RKx, y PHMBEART K.

547 (FLoTD)



http://www.whedu.top

I TOP &M FEAISCRY, MABTE! Wik www.whedu.top HiiE: 1329410 5612

30. DR SRR "B =2y 5 VX 3y RAXZHRHMA, RV HI12y+ 1+ Vx—y -1
fF1E.

1 1
31. 54 fil, JESRAA: ar '(1+ ) , Ha=V2+1 .

612—261—1—1T a—1

x+3 x242x+1

. X
32. Jetb i, ﬁikﬁ:x_l—xz_l 13 , Hhx=4v2+1 .
1 /13
33. LT R 1A : x\/;+v4y—§+ ; , Hfix =4, y:é_
o o xP42x+1 x2—1 x
34, oAby, FEoRAE: + , Hix=+3-2

x+2 T x—1 x42

55 (FEoT)


http://www.whedu.top

Y TOP &M JBAISCRY, FRAFTA ! Mhk: www.whedu.top Hiif: 1329410 5612

2_p2 a—>b a

a
35. bl TR 35 aap a—p 0 ha=1+V3, b=1-V3 .

6.0 =2-v3 , k(T+4V3)x2+ 2+ V3)x+V3 .

1 b
M= E s b= e jz@(%ﬂ/;) ffi.

%67 (FEoT)


http://www.whedu.top

Y TOP &M JBAISCRY, FRAFTA ! Mhk: www.whedu.top Hiif: 1329410 5612

16.3 MR ABIINIE &R

B
I.D 22A 3C 4A 5B 6D 7.B 8B 9.B 10.C

B H 5
11. /5 12. V5 13. 24/3 -2 14. 6 15. —4
16. 3v2+4 17. V3 18. x—y 19. 1 20. V6 —+/5
E=#
Eﬁ=‘ﬁ—«/§‘+[—f2
21. (1) BRX =55 . (2) = V3-V24+3-2
=23 -2V2.
J?ft=[f2+(f—¢6)]x[\/§—(f—\/€)]
S —2-(V3-Ve)’
B =23 —-+v3-1
n - 2) =2-(3-6v2+9)
B ' =2-34+6v2-6
=6v2-1.
23. 2
X 243
%ﬁzz_%+¢8 }?ft=3\/§+2«/§+?
24. (1) _ 2 BRENG
=5
B =2v3+2V5-3+4/5 B = V48 — 36 + V2
25 (D =2v3+3V5-3; 2 = 44/3-3V6+ V2.
26. (D BRX=2V3-2/3+V3=V3 () Bit=2-3 .

27 (1) ~5ax2v/10b = 2+/50ab = 10/2ab
(2) 2b\/§+ 2«/a3b _ Joub
AT, a, bFES,

570 (Lo T


http://www.whedu.top

I TOP &M FEAISCRY, MABTE! Wik www.whedu.top HiiE: 1329410 5612

R = 2vab + 3vab — 3 ab
S %a>0, b>0 g,

= 2+ ab;
b <o B = —2+ab — 3vab — 3 ab
= <0 ’ < ik ’
=5ia i = —8+ab.

,3/1_§+\/§-\f3_2)_ﬁ(¢§_1)

301
=—>+--2++3-3+3
(D 22

3001
— 24 - _2-3423
) +24/3

= —6+ 2/3.

%+@—\/(2—ﬁ)2—ﬁ<ﬁ—%>

(2) =245-V5+2-5+1
=5-+/5.

28.

29. (1) MEiE, B3x—-10=2 , 2x+y—-5=x-3y+11 , fffx=4, y=3.
(2) V32 +42=5

30, x =5, y=2,6/2 .

31. 1.

2

R X X+ 3 x+1)
B = -
T Tl T G4 D=1 x+3
X x+1 1 V2
32. R — Mx=+2+1 g, Eﬁ__—ﬁ-kl—l__T
1
T ox—1
1 /3
x\/7+ 4y—£+ J
X 2 y
X 1 . 4 1
33.:\/§+2ﬁ—§+ﬁ Lx=4,y=g 0, L?ft:7+3\f§:2
X
=§+3ﬁ.

587 (FL9T)


http://www.whedu.top

I TOP &M FEAISCRY, MABTE! Wik www.whedu.top HiiE: 1329410 5612
x +1)2 ) ) { 1 X
= g2 DDyl
(x+1)2 x—1 X
- x4+ 2 X(x+1)(x—1)_x+2 V3
¥ x+1 1 frx=v3-2 fAER, BR=7.
_.x+2__x-+2
1
:;x+2
i—’[(l:l—{—«/g 5 b=1—\/§ ETj‘y
s _ @b @+b) a=b a Bt = -3
mE (a—b) a+b Ca-b (1+\/§)_(1_\/§)
¢ 1-V3
> a—b Y
= _ bb. _3-3
a— = e
36, x=2-+3, " x2=7-4J3 ,
LRI = (T44V3) (T-4V3) + (2+V3) (2-V3) + V3
=72 - (4v3) +4-343
=49—-48+1+/3=2++/3.
37. ¥ a, bALTE, FARN AR
1 1 V341 V/3-1
homgath= "t e =t =3 :
S B = f(f \[>
= Va? + Vb?
=a+b
= /3.

59 (FLoT)


http://www.whedu.top

	16.3 二次根式的加减  答案

